
1) (-9) ÷ (-3)

Answer: ____________

2) Find the mean of the following set of data:

4, 12, 12, 3

Answer: ____________

3) 43 x 23

Answer: ____________

4) 6 ÷ 3

Answer: ____________

5) b

a o c
Measure angle boc 

Answer: ____________

6)

'Name the type of angle.

Answer: ____________

7) Write 5 x 105 as a normal number.

Answer: ____________

8) Simplify 15:14

Answer: ____________

9) 17.3 - 44.2

Answer: ____________

10) 17.3 - 44.2

Answer: ____________

11) Round 29.32 to the nearest 1000

Answer: ____________

12) 44/10 ÷ 42/3

Answer: ____________

13) b

a o c
Measure angle boa 

Answer: ____________

14) A number was shared in the ratio 
14:13. The smaller share was 13. 
What was the total amount shared?

Answer: ____________

15) Find area of square 
having each side (s)
equals 95 m

Answer: ____________
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16) (6 x 47) / (5 x 10-9)

Answer: ____________

17) Find perimeter of 
square having each 
side (s) equals 69 ft

Answer: ____________

18) Write 100000000 in standard form.

Answer: ____________

19) 2/3 + 7/7

Answer: ____________

20) Simplify 11:3

Answer: ____________

Total: ___ / 20
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Answers:

1) 3 2) 7.75 3) 989 4) 2 5) 153 6) Obtuse 7) 500000

8) 15 : 14 9) -26.9 10) -26.9 11) 29.32 12) 33/35 13) 148 14) 27

15) 9025m 16) 19660800000000 17) 276ft 18) 10 x 107 19) 12/3 20) 11 : 3
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